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Questions

Cambium is formed in stage.

Young tissues retaining the potential to divide.

Intercalary meristems are situated at.

During elongation, the cell volume increase upto.

In the zone of elongation, the volume of the cells increase upto.

Primary growth in plants is caused by.

A plant has a growth pattern called.

Causative agent of genital herpes is a.

Gonorrhea is caused by.

Syphilis is caused by a spirochete named as.

Lutinizing hormone induces.

During progeny luteotropic hormone LTH and placental lactogen stimulate Mammary

development in preparation for.

Most of the major orangs of embryo are formed within the.

When will call embryo a fetus.

The human embryo is referred to as the fetus from beginning of.

Answers Choice

A
B

C.
D

C
D
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. One

. Two
Three
. Four

. Meristem
Xylem
Phloem
Cork

Root apex

Shoot apex

Base of internode
Top of internode

50 fold

100 fold
150 fold
200 fold

. 100 times
150 times
200 times
250 times

. Apical meristem

. Intercalary meristem
Lateral meristem
Rib meristem

Open growth
. Meristem
Growing point
Apical

Virus

. Bacteria
fungi
Protozoan

Treponemapallidum

. Neisseria gonnorrhoeae
HCV

HIV

. Nisseria gonorrhea
Theponemapallidum
. Escherichia coli
Hypomicrobium

. Menstruation
Menopause
Ovulation
Oogenesis

. Gestation

. Lactation
Miscarriage
. After birth

10 week
12 week
14 week
15 week

After 2 months

After 3 moths
After 5 moths
After 4 months

3rd month
3rd week
. 6th months
. 6th week
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Which hormone induces labour pain

The total gestation period in human female is usually about.

A LTH
B.LH

D. Lactogen
B. 280 week

C. 28 months
D. 360 days



